
sin(x-y)=1/2
sin(x+y)=V3/2

x-y=P/6+2PK
x-y=5P/6+2PK
x+y=P/3+2PN
x+y=2P/3+2PN

x-y=P/6+2PK
x+y=P/3+2PN

x-y=5P/6+2PK
x+y=P/3+2PN

x-y=P/6+2PK
x+y=2P/3+2PN

x-y=5P/6+2PK
x+y=2P/3+2PN

2x=P/6+2PK+P/3+2PN
x=P/12+PK+P/6+PN
2y=P/3+2PN-P/6-2PK
y=p/6+PN-P/12-PK

x=5P/12+PK+P/6+PN
y=P/6+PN-5P/12-PK

x=P/12+PK+2P/6+PN
y=2P/6+PN-P/12-PK

x=5P/12+PK+2P/6+PN
y=2p/6+PN-5P/12-PK
Ответ:(P/12+PK+P/6+PN;p/6+PN-P/12-PK),(5P/12+PK+P/6+PN;P/6+P
N-5P/12-PK),(P/12+PK+2P/6+PN;2P/6+PN-P/12-PK),(5P/12+PK+2P/6
+PN;2p/6+PN-5P/12-PK)


